(#+ FORMULE DI NEWION-COTES **)

fIx_1:=Exp[x];
a=0.; b=1.;
h=b-a;
truel =Integrate[f [X], XI;
true=Integratef[f [x], {x, 0, 1}1;
trap = (f [a] +f [b]) *xh/2.;
x0=a; x1=(a+b)/2.; x2=b;
h=(b-a)/2.;
sinmps = (f [x0] +4 *f [x1] +f [x2]) *h/3.;
Print ["Funzione: Exp[x]", " Primtiva: ", truel]
Print ["Val ore nunerico esatto = ",
N[true], " Trapezi =", trap, " Simpson = ", sinps];
Pl ot [f [x], {X, &, b}, PlotRange - {0, 3}]

Funzi one: Exp[x] Primtiva: &
Val ore nunerico esatto = 1.71828 Trapezi = 1.85914 Si npson = 1.71886
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f[x_]:=Cos[X];

Print[];

a=0.; b=Pi 72.;

h=b-a;

truel =Integrate[f [Xx], XI;

true =Integratef[f [x], {X, a, b}];
trap= (f[a] +f[b])*xh/2.;
x0=a; x1=(a+b)/2.; x2=b;

h=(b-a)/2.;
sinps = (f [x0] +4 %f [x1] +f [x2]) xh/3.;
Print ["Funzi one: Cos[x]", " Primtiva: ", truel]
Print ["Val ore nunerico esatto = ",
N[true], " Trapezi =", trap, " Si npson = ", sinps];

Pl ot [f [x], {X, &, b}, PlotRange - {0, 1}]



2 Integrazionel.nb

Funzi one: Cos|[x] Primtiva Sin[x]
Val ore nunerico esatto = 1. Trapezi = 0.785398 Si npson = 1.00228
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Cear [f1;

fIx_1:=1-5x2%+x%

a=-2.; b=2.;

h=b-a;

truel =Integrate[f [Xx], XI;

true =Integratef[f [x], {X, a, b}];
trap= (f[a] +f[b])xh/2.;
x0=a; x1=(a+b)/2.; x2=b;

h=(b-a)/2.;

sinps = (f [x0] +4 «f [x1] +f [x2]) xh/3.;

Print ["Funzione: 1-5 xZ+x*", " Primtiva: ", truel];
Print ["Val ore nunerico esatto = ", N[true],

" Trapezi =", trap, " Si npson = ", sinps];

Pl ot [f [x], {X, a, b}, PlotRange -» Autonati c]
Funzi one: 1-5 x%+x*
5x3 x5

+ —

5
Val ore nunerico esatto = -9.86667 Trapezi = -12. Si mpson = -1.33333

Funzi one: 1-5 x2+x* Primtiva: x-




